= A
N = 0] &F AF S & AN A
20148 = 20 A LBt H ss 2
e == N
HEM: HHUS dsPxEs 235
Col: WEIRBE JIBIE (SHol: @)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %Eﬁ HRE2
gt 2R 12,445,501 18,161,902 N5,716,401
2 99,000
J| 7,474,812
= 4,871,689
MHHUsS ds2rxes 235 12,278,841 18,011,742 N5,732,901
= 99,000
J| 7,474,812
== 4,705,029
dSIAXES IR H 12,278,841 18,011,742 N5,732,901
= 99,000
J| 7,474,812
= 4,705,029
1192 X &H| &5 1,740,000 2,041,000 A 301,000
Jl 870,000
= 870,000
405 XHA&HF S HI 1,740,000 2,041,000 A 301,000
J| 870,000
o 870,000
01 XML 2 FF S| 1,740,000 2,041,000 A 301,000
OREZ2ZIX 960,000
J| 480,000
& 480,000
OF SR XA 100,000
J| 50,000
& 50,000
ORAEHHME 200,000
J| 100,000
& 100,000
O3 XA 100,000
Jl 50,000
= 50,000
Oltet 2 X & 80,000
J| 40,000
= 40,000
(©P/ RN FSPSE 300,000
J| 150,000
= 150,000
19722 HAH 2K 3,209,624 3,021,000 188,624
J| 1,604,812
o= 1,604,812
201 YEt2 Ayl 129,624 261,000 A 131,376
J| 64,812
o=} 64,812
01 AFR 2t 2| bl 129,624 261,000 A 131,376
ORSANETA 2L 84,000
J| 42,000
= 42,000




SN YESPED
M WHUES gsx8s L&
Cel: HERXBE JIBRE CER-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFSagede 2L (SSNEAA =) 45,624
J| 22,812
< 22,812
405 XtatE SHI 3,080,000 2,760,000 320,000
J| 1,540,000
< 1,540,000
01 AL ESFH S 3,080,000 2,760,000 320,000
o192 &l +& 3,080,000
J| 1,540,000
< 1,540,000
dSATHR 2F 2,850 2,850 0
203 YR =&l 2,850 2,850 0
03 AIHF=XH R =AH| 2,850 2,850 0
OYUSPAZAMFA 2,850
ASIAT A 2SN 116,100 101,100 15,000
201 L2l 75,000 60,000 15,000
01 At 22l 15,000 0 15,000
OAANE S d59AF £ JI=82AR3d
g&=g S 5,000
OBLEMOIB HHAI I 10,000
03 &AL E HI 60,000 60,000 0
OUHEAEM AN HAXH S 60,000
202 O4dl 15,000 15,000 0
01 = LH o4 4l 15,000 15,000 0
Od=ALI=Z U 2L S 15,000
206 = Hl 26,100 26,100 0
01 MHZ 4l 26,100 26,100 0
O AZPEZsEE S 26,100
2dteE A xS0 24 6,187,628 873,042 5,314,586
J| 5,000,000
< 1,187,628
201 £B-2%H| 1,182,698 867,582 315,116
01 At 22/l 1,167,200 851,984 315,216
OYxteIl |Xdl 1,157,600
OgZE3RXL8 MeletdE 2 9,600
02 =224l 15,498 15,598 A 100
oagasl 24 9,666
O F AHEHEHH| 5,832
206 = Hl 4,930 5,460 A 530
01 MHZ 4l 4,930 5,460 A 530
OETES ) 2,730




2AM: g2
3 HHUsS gdasrxes 235
Oe: WESIXBE IS (el @2)
SA - BB B (BA) - MEAY - BYS ofl &k o San HDE2
ONM&eg datz2s 1,200
OSZ2HIE FS4E S 1,000
401 Al HI YL 2 0HHI 5,000,000 0 5,000,000
Dl 5,000,000
01 A& HI 4,800,000 0 4,800,000
ot=es Agd) el 4,800,000
J| 4,800,000
03 Al& 201 Y] 200,000 0 200,000
ousa agd) 2l 200,000
Jl 200,000
gzt G AR 200,870 190,000 10,870
= 49,000
= 151,870
201 Bt A H| 65,870 60,000 5,870
01 AtR 22l ] 15,870 0 15,870
O QEAYUHAES AMRA AUz S 15,870
03 A2 H H 50,000 60,000 A 10,000
O o s4dll SMAEEUE S 50,000
301 et A= 120,000 130,000 A 10,000
= 49,000
= 71,000
09 HAIAHIBAZ 50,000 60,000 A 10,000
OEHE ERY AE8HE ot2tdlol S 50,000
11 IIEtE A2 70,000 70,000 0
O1M9AI I =AM X 2 K& 70,000
= 49,000
== 21,000
403 XtXISHH S K201 15,000 0 15,000
01 HXHNMAHEE = 15,000 0 15,000
oA #H ¢ 15,000
SIHEAN 823 =& 325,012 105,750 219,262
206 M = Hl 25,000 20,310 4,690
01 & bl 25,000 20,310 4,690
OIMEA DX A28 2 25,000
207 SO0 | 14,000 13,000 1,000
03 A&t 14,000 13,000 1,000
OSFHEAIHAA S ARH| 14,000
302 01 =T o 2 & 3 50,000 52,000 A2,000
02 QIZIOITHOH E & 2 50,000 52,000 A 2,000
OZIMIdHzF2 F=HESHMNA 50,000
405 Ko SHI 236,012 20,440 215,572




SN s
g

SRS =
Sl HESIXES JIWRE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et EFFHSHI 236,012 20,440 215,572
OtMZAF JIXM 22 151,012
Ol A8 A (ENCH) SHIHZAHDIXHIH 85,000
ASAXTES JIBX Y 396,757 177,000 219,757
206 M= Hl 93,710 135,000 A41,290
01 M= 4l 93,710 135,000 A 41,290
OMIFHAINR IZLYES B3 67,500
OfotddEzda =83 228 22 26,210
301 gt d= 2,500 18,000 A 15,500
1MIIEBESS 2,500 18,000 A 15,500
OHIAT HM & s AdNZHM 29 2,500
401 Al HIZ 2018 120,000 24,000 96,000
01 A& HI 120,000 0 120,000
OEAM, &2t & QX0IS sMetEI|e A5 120,000
405 XtatE SHI 180,547 0 180,547
01 AL = ZFH SHI 180,547 0 180,547
OgZotdatel &Hl 22 18,967
O Zordate] JHeletdEdR 2¢ 131,580
o7& 2 30,000
HElel & SE=AHEHEL 100,000 0 100,000
2 50,000
< 50,000
405 XtAtE SHI 100,000 0 100,000
= 50,000
< 50,000
01 HatL ESFH S 100,000 0 100,000
OoststE2ss 04 100,000
= 50,000
< 50,000
HH2IZH(LES2E D) 166,660 150, 160 16,500
J=2ZH(g¢s+xm) 166,660 150, 160 16,500
2B (LS ED) 166,660 150, 160 16,500
201 ¢er24| 106,360 98,360 8,000
01 At 2t 2l 52,800 44,800 8,000
O e8| 52,800
02 2324l 53,560 53,560 0
Oz22= & HA 13,560
OXNEHAXE & SFMHEAIIE SXH S 40,000
202 044l 56,100 47,600 8,500
01 = LH o4 4l 56,100 47,600 8,500
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